Problem 1:

a) For the circuit shown above find the node equations necessary to solve (DO

NOT SOLVE THE EQUATIONS) for the nodes vV, V,

them in the matrix form GV —_—'-I }A\
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b) For the circuit

v,=7.4135V

shown, if the nodes voltages are found to be

V, =8.9062 V

Find the following;:
1. The voltage V', and the current [, ?
2. The power absorbed by each of the three independent sources?
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Problem 2:

a) In the circuit shown, determine the value of the resistor R that absorbs maximum power

from the circuit.
b) Calculate the maximum power that is absorbed by Ry
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